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et Al 744,955,760 100.0 767,524,653 100.0| A 22,568,893 A29
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ef Al 1,092,598 100.0 1,092,598 100.0 - -
Nl 2|2l 591,451 54 1 591,451 541 - -
BxZ 491,966 45.0 491,966 45.0 - -

[RHASAGTS 2014WE H|33| M= =712H 0fAHeH]

E:r% : 78 2. %)

B of AF o K S TESTE

= (A) A (B) M| | (C=A-B) | (c/Bx100

2 A 6,750,296 100.00 6,993,296/ 100.00| A243,000f A35
BAHASAATEH 6,750,296| 100.00 6,993,296 100.00| A243,000f A35
HBHAALH 2Y 2,826,097 41.87 2,826,097 40.41 - -
M 2A L] 3,746,903 55.51 3,989,903 57.05| A243,000 A6
MEes(EMXE) 177,296 2.63 177,296 2.54 - -
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